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Today: P{ W

a) a last look at X? L SO
b) finish evaluating the Project Q -

Have your X° packet available
(cream color)
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Pick up the Warm Up

You'll need your Chi-Square packet as a

reference
do 1 0¥ ol
—FO(' r\OLAJ

warmUp US€ your notes as needed. (5-1)

ve
Practicing Using the Chi-Square Test of Independence QA\ green \s B\ o¢ \ﬁ\lj.
(2-0) A | =
o il
1. A researcher consulted 500 men and women to see if the colour®f ar they

drove was mdependem of gender. The colours were red, green, blue, b]dck and

silver. A 7’ test was conducted at the 5% 5|g1_11ﬁcance IC\ ] and the valuc found
V

SS———=

a. Write down the null hypothesis . Coloris independent of /

gender /7
b. Find the number of degrees of freedom. (2 \\(r) ‘)
c. Write down the critical value for this test. 0' L'l % x ( % o ﬁﬁ
|

d. Iscar colour mdt.pendem of gender? Give a clear reason for your answcr

\{Qa, X af 87D gnomf@oﬁ/g;”
K oF 50y < 4.4
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2. Suprqse a similar test was conducted on a different population of 300 people. A
gnificance level is used. It was found that the p-value was 0.04.
Iscolour independent of gender ? == - /g\
= .oH & Wi W*SM Mo

Since the p-value < 0.05, we must
reject H, . Thus gender and car color
preference are associated.

p“f\f\oao"\
QD(« _\_he, \M\'\'¢J“°“5 !‘SF-!

Moo X Tesk of
A . \\]o-\- enous\q Sacto

B 22 odysskment




October 02, 2018

3e
Consider the contingency table alongside:
a Construct the expected frequency table.
b Are any of the expected frequencies less than 5?

¢ Combine the data so that none of the cells have an cxpcctcd

frequency less than 5.

0-/9
20727 &,
o1 R,
O BA.

Own a pet?
Yes

Ina 2 by 2 contingency table:

-- Yate's continuity correction
calculating X

must be used when

Y

=1, we use
(Ifo — fel — 0.5)*
Xcale = Z
fe
where |f, — fe| is the absolute value or modulus of f, — f.

_
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Vates Contonu®ty Coltta fion C for ol T4 2

The following table shows the results from a random sample carried out so that the
question about the relationship between education and job satisfaction could be O hﬁ.
analysed. Completed University 7[7

YES | NO Q%VQCJ@

o YRS T e N AL 5710,
Satisfied in job
NO | 238 [ 292 | 530 \40 a3 69

510 910 1420

1. Calcuate the expected freq

2. Set up a table to organize. /

SRR R

72| A4S 1es - 1549]
big lsns| L P

238 [196.33
PR LA

s — fo| —0.5)2 ]9 O\
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international math study
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A small Pennsylvania town.

-
2 /
Outliers \>

L

Finish Evaluating the previous project.

1. Find your project scoring rubric.
2. Pick up a copy of the project.

3. Read criteria D and evaluate the
project for this criteria.
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Brainstorm:

Think back to all of the statistical
graphs, statistics, measurements so far
in this course:
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chi —Square Tast of TWAQPQ\)AQ&CQ.

P(pé?d?o e o

Coffee Shop Brainstorm

R 5@&).\" 3‘(6&)&‘-_)

Now that you have some

statistical tools, What type

of questions could be

investigated and answered?
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See \/ow(
L. &

Assignment
Ch.11 Packet

p.341...#2 (use the Xl'statistic) I i
p.344.... #1abcd S,
p.348.....#4 (use probability) €.=+="""" " N

cleosly Frow oM d
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